Solutions

To the first problem:

Grandpa's pockets hold 1,2,4,8,and 16 chocolates. So he has 31 altogether.

To extensions:

   1. The number of chocolates is 1+3+9+27+81=121

   2. Probably the easiest way to do this is by guess and check. But a smarter way is to notice that if Grandpa's smallest pocket had 5 chocolates, he would have 5+10+20+40+80=155=5(1+2+4+8+16) so this is 5 times the 31 he had in the original problem. So how many times does 31 go into 93? The answer is 3. So the smallest number of chocolates that Grandpa has in his pockets is 3.

